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Before attempting the question paper, kindly check your

Question Booklet(QB) and O.M.R. Answer Sheet and

ensure that:

- Serial number of Question Booklet(QB) and OMR
Answer Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should

immediately report the matter to the Invigilator for

replacement of Question Booklet(QB) and OMR Answer

Sheet. No claim/objection in this regard will be

entertained after five minutes of start of examination,

candidate will be liable for the same.
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in only one option/circle (A), (B), (C) or (D) with blue ®

ball point pen for respective question number on the OMR
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Choose the most appropriate word from the given alternatives which bears the same relationship with the third word,

as the first two bear.

Mountain: Hill: :Tree: ?

(A) Leaf (B)  Shrub

(C) Forest (D) Rain

(E)  Question not attempted

e fau T fereredl © & et a1 SsaT o T o ATEY dTEL 3ee o fo A fow e feed § ga@ 3uges s U
gdq: Ugls: :a's,':?

(A) T (B) At
(C) i (D) @t

(E) SFdia s

Choose the odd one out.

(A) Korea (B) Poland
(C) Greece (D)  France
(E)  Question not attempted

fereer <1 =1

(A) i@ (B) Uit
€ #= (D)

(E) SAfdia s

If in a certain code, O is writtenas L, Aas H, M asI,SasF,NasT,Eas S,Ias A, P as G and C as E, then how will
COMPANIES be written in that code?

I frf ST OR L, AR H,MHIL, SH F,NH T,ER S, [H A, PH G & C H E @ Smar g, diz@we d
COMPANIES T ¥ o Starm?

(A) ELIGHSBSF (B) ELGHITASF

(C) ELIGHATES (D) ELIGHTASF

(E)  Question not attempted / Cﬂgﬂﬁ_cf EE

The state bird of Rajasthan is
(A) Indian Roller (B)  Peacock

(C)  Godawan ( Great Indian bustard ) (D)  Blue Jay

(E)  Question not attempted

TSTET T T 9&ft i &1 22

(A) AT T’ (B) #R

(C)  ama (e e aeed ) (D) s

(E) SAgdia s

Which of the following peaks of Aravali Ranges is the highest?

(A)  Gurushikhar (B)  Raghunathgarh
(C) Jagra (D) Kamalnath

(E)  Question not attempted

IS @ o TfTiad et § o€ St =it S € 82

(A) TERRET (B) TS
(C) S (D)  HATHTS
(E) aaysd

D
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‘Kalisindh Thermal Power Project’ is located in which of the following arcas of Rajasthan? (Choose the most

appropriate option from below)

(A)  Jhalawar (B)  Bikaner
(C) Barmer (D) Kota
(E)  Question not attempted

ST e AT Foott TS Ffetfiad o & Troreer o forer &t & feora 82 (et o & word Swehs forshed <)

(A)  FETES (B) R
(C) @meH (D) =
(B) raRayy

Given below are two statements:

Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.

Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

Fier gt e e T E:

HAT () 2 T T | Tl oS & ®9 H ST 1T 2]

HAT (1) : forere e & Tl ofiX @i ST Hiem o 31T ST 2

STUH o o el 4, et fow e foreredi & waiferes I9g S|

(A)  F (1) IR FH (1) ST T 2 (B) Y (I) 3R F (1) SHT TTerd 2
(C) o (1) T & TfeRd e (1) TTerd 2 (D) U (I) T & ifeh e (11) 62 2l
(E) SFdia s

For the sentence given, choose the most appropriate answer in the passive voice from the options below:
My sister baked a cake.

(A) A cake had been baked by my sister.

(B) A cake is being baked by my sister.

(C) A cake was baked by my sister.

(D) A cake was being baked by my sister.

(E)  Question not attempted

Complete the given sentence choosing the most appropriate word from the options below:
My brother is in the Indian Foreign Services and can speak many languages. He is a

(A)  Pessimist (B) Polyglot

(C)  Philatelist (D) Linguist

(E)  Question not attempted

Complete the given sentence choosing the most appropriate word from the options below:

She remarked that she annoyed with him for his lack of sympathy for the victim.
(A)  will feel (B) felt
(C) feeling (D) feel

(E)  Question not attempted

Al15] ¢ 3 [ P.T.O.
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Which of the following is not a medicinal plant?
(A)  Emblica officinalis (B)  Curcuma longa

(C)  Corchorus capsularis (D)  Ocimum sanctum

(E)  Question not attempted

frfafaa & @ siF-ar siwe e 72 82

(A)  gFalorT STTBRATITE (B) FFHTAN
(C)  PRERE FGARE (D)  IfGHA HagH
(E) oFfdia s

Which part from ‘ashvagandha’ plant is used to make medicines?

(A) Flowers (B)  Shoots

(C) Leaves (D) Roots

(E)  Question not attempted

‘ST ey o o Tl T ST QaTSat ST & STANT form STTaT 22

(A)  FAH (B) &t
(C) ufwEiaH (D) SEIH
(E) oFfdia gy

Natural rubber is a polymer of:

(A)  Ethylene (B) Isoprene
(C) Ethene (D) Butadiene

(E)  Question not attempted
STehfcieh ToR foReeRT Tah difert 22

(A) 3l (B)  STTEIH

© T (D)  SereTE

(E) oFfdia sy

After Independence three states in Rajputana acceded to the Indian Union through the-

(A) Instrument of Obligation (B)  Instrument of Accession

(C) Instrument of Integration (D)  Accession Instrument League
(E)  Question not attempted

R 6T TIATAT 6 T TS o A1 TS b1 AT 6 7 fererr EXERRERIKIRI
(A)  THZHZ 3T Hifoerem (B)  THZHZ ST THTH

(C) T ST T (D) TR S ST

(E) oFfdia gy

Which of the following is an institutional factor of agriculture which influences the pattern and productivity of
agriculture?

(A)  Size of the holding of fields (B)  Topography

(C)  Chemical Fertilisers (D)  Crop Insurance

(E)  Question not attempted
FAfeTiiad o & SN o1 HI-HT HEATT FR, H shl ATl S ITET HI THITC Ll 82

(A)  3TefiE FY & T AR (B) TSI
(C) @M 39 (D) S ST
(E) oFfdia gy

Al15] ¢ 4 [ P.T.O.
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‘Narma’ is associated with which crop in Rajasthan?

(A) Jute (B)  Cotton
(C) Tea (D) Coffee
(E)  Question not attempted

T TSTEAT <t oh FHeT O Erelferd 82

(A) (B) U™
(C) =™ (D)  @I%T
() SAfdiayy

Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A) Itis aregion of high mountains peaks.

(B)  This region has well distributed rainfall throughout the years.

(C)  They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(D)  The higher reaches of this region are inhabited by Monpa.

(E)  Question not attempted

rfstfer i faferrn femmer 3 ame e & @ 61 1 e g Tt 29
(A) I% 3=9 ydd fIRadl =1 &7 2

(B) 39 & T oy wiq vl 7= TR & faafia R

(C) I ufzm o Juret fewrer 3 0 sie fewes @ o €

(D) 39 & o S=d THT 9T {6 (e 2

(E) Iaid w9y

Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone of the Cabinet arch?
(A) Raunsary Muir (B) Lord Morely

(C) H.J. Laski (D)  Munro

(E)  Question not attempted

Toert STt w50t 2l ST S T (HHehedl H Werd ST T8 dTe) TR “ohfee o Y & % &9 1 Jfviq fepar

(A)  TIHHR (B) Uy

(C) TAS. AT (D) HH

() SAfdiayy

Who was the first Lokayukta of Rajasthan?

(A)  Justice Pratap Krishna Lohra (B)  Justice S.S. Kothari
(C)  Justice I.D. Dua (D)  Justice J.L. Gupta
(E)  Question not attempted

TSTET o WA ATHRE I 47

(A) ST JaTd T e (B) Ifew TH.ud. HISwt
(C) <iRew =gl g (D) SIfeE SL.uA. T
(E) oFfdia gy

What is the tenure of the Chairperson and Members of the Rajasthan Human Rights Commission?
(A) 5 Years or upto 70 years of age whichever is earlier

(B) 3 Years or upto 70 years of age whichever is earlier

(C) 5 Years or upto 65 years of age whichever is earlier

(D) 3 Years or upto 65 years of age whichever is earlier

(E)  Question not attempted

TSI AR ST o STETeT T HEET ohl bt fohdHT BIdT 82

(A)  Sadar 70 a T 3T 7 S off TE & (B) 3 ar 70 I ¥ 377 ok ST +ft wEA &
(C) 5Tt esad i 31y ak S off e & (D) 3T 65 fif 31T % S +ff T &
() SAfdiayy

Al15] ¢ 5 [ P.T.O.
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Who among the following was the first woman Governor of the state of Rajasthan?
(A) Kamla Beniwal (B)  Pratibha Patil

(C) Prabha Rau (D) Margret Alva

(E)  Question not attempted

freferfiaa & @ Tsree T2 shT 9o AieeT TSt (TeR) i off?

(A) o SHETT (B) ey wifeer

(C) 9w (D) HTIE T

() SAgdiayy

The Planning Commission of India was formed on

(A) 26" January 1950 (B)  15™" March 1950
(C)  IstJanuary 2015 (D) 2% October 1950

(E)  Question not attempted

T o AT STTART T T3 1 gAT ATl

(A) 265 1950 (B) 159 1950

(C) 15Had 2015 (D) 2 3FFR 1950
(E) oFfdia s

Vergheese Kurien is known as the father of which revolution in India ?

(A)  White Revolution (B)  Blue Revolution
(C)  Green Revolution (D)  Red Revolution

(E)  Question not attempted

TSt KT T TR H TR ShiTdl o S o &9 H STHT STl 82

(A) & shif (B) el wifa
(C) =i mifa (D) e (TF) shifd
() SFfdia s

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by 15%, then what will
be percentage increase in his expenditure?

RS AT 31T T 80% @ LT 2l A JTh! AT 14% § ¢ STt & 3 a=d 15% § I STl 2, a1 36k @ | foha~

ferera gfg 2t
(A)  20% (B) 21.25%
©) 22.25% (D) 25%

(E)  Question not attempted / @gﬂﬁﬁ EE

If ‘m’ is proportional to ‘n’ and m = 5 when n = 4, then what is the value of m when n = 20?

g ‘m’ ¥ ‘n’ ‘GI'HWO‘T{T%%‘E?TQH m=>5 S&Ifeh n=4 &I, ST n=20 ﬁraamwn@rw@m?

(A) 28 (B) 225

© 25 D) 20

(E)  Question not attempted / ﬂﬂﬂﬁ’ﬂ 99

The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is
108 m?. Find its volume.

T it SRR oAl TS SEehl =1gTs ¥ g1 €1 SEeh! S5el1S 3m &) SHohl S A (LTSI 2T WIS oY) T &Fhel
108 m? 2| SHHT HATIT J1d HIeTY)

(A) 216m? (B) 225m?

(©) 125m? (D) 256 m?

(E)  Question not attempted / Hﬂﬂ'ﬁﬁ I

Al15] ¢ 6 [ P.T.O.
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Choose the odd one out.

(A)  Congregate (B) Disperse

(C)  Aggregate (D)  Accumulate
(E)  Question not attempted

ferm =1 == R

(A)  THA HET B) foar-foaquamn
(C) Hefera (D)  dfad s
(E) SFfdia s

There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.

Who is the second tallest?

(A) Ram (B)  Sachin

(C) Kamal (D) Arun

(E)  Question not attempted

qier SIed 8- |, e, HIE, STR0T 3T TH| | 31 e el 9 DSl 8, T UH § SIS 21 Hied 31 e Tad e 8| 37807 31
i A § ATST A & IR Ao | IieT aeT 2

% T GO W ST hH 27

A) W (B) gfeA
(C) A (D) 3T
() Srfdia s

Which of the following words will come second in the English dictionary?
SIS SreshieT H Ffctiiae o & i @1 37oq ZHL T T STTT?

(A)  Magnetic (B) Magical
(C) Maternal (D) Magnify
(E)  Question not attempted / Hﬂﬂﬁﬁ BE)

Chandoli was declared as National Park in 2004. It is located in which Indian state?
(A)  West Bengal (B) Meghalaya

(C) Mabharashtra (D) Haryana

(E)  Question not attempted

2004 T TSt T T ST NS o 7T o) T8 Ya & B ¥ TsT 0 27

(A) Tt s (B) HEeR
(©) Helrg (D) s
(E) SFdia 9y

Which state assembly passed a bill to provide reservation in state government jobs for SC, ST, OBC and EWS from
60% to 77%?

(A) Kerala (B)  Jharkhand

(C)  West Bengal (D)  Andhra Pradesh

(E)  Question not attempted

Tor T ShT TreT e < TS B R ohi iehial § U §f, Ta 21, 31, o, €. 7R 5. S5, TH. STRE0 1 60% H TETH 77%
T 3 a1 farerren aTfi foram?

(A) A (B) wrEE
(C) Uiz s (D) Ty TR
() SAfdia s

Al15] ¢ 7 [ P.T.O.
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32 Which of the following articles empowers the parliament to legislate on any matter enumerated in the state list in the
national interest, if the resolution is passed by the Rajya Sabha with a 2/3 majority of members present in the house
and voting? (Choose the most appropriate option from below)

(A)  Article 54 (B)  Article 249
(C) Article 312 (D)  Article 360
(E)  Question not attempted
frfeafaa 5 & 17 |1 3rgese woe i T fod 0 Tea g | wriiet foret off Jrel o i S T STftep 3t |, afe
ST T T S e SuRerd §Ei 39 e 23 SIGHA o §T UTRA foRa SiTaT 2 (ﬁwﬁi‘f I I forehe
)
(A) ST 54 (B) 3<% 249
(C) FT=R 312 (D)  3FT=TE 360
() SAgdia s
33 fefaRad wesi # 316 fofied wree 2-

a.  giEF® b. U™

c. ELd d. gfira

e. Frsshmor
e fow T fereredi # & waTferes IugT ST T = HIT:
(A) Fada 3D (B) Haab3ic
(C) Factasile (D) Facta3iid
(E) SFdia 9y

34 TRE el sl T e &

a. WAt b. HLAdT

c. Teretear d. ¥

e. dferear
et fau U fereredi o & wariferes 3ag ST 1 = AU
(A) Fadc,d3fe (B) FacTa, b3Ne
(C) Fade,d3N b (D) Fadc,d3Na
(B)  SIJaid oo

35  wfoaem & form oTToss o e fedt 3ur o Tt 22
(A) STT=3% 343 (B) 31T<9% 243
(C)  3TF=eT 234 (D)  3TT=RT 283
(B)  STJaid 94

36  Given below are two statements:

Statement (I) : ‘KARYA’ is a program of department of science and technology, government of Rajasthan.
Statement (II) : ‘KARYA’ aims to provide short term research opportunities to students of basic sciences at graduate
level only.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
A - I : FE(KARYA) fo wd Frefiehl form, Teieer T 1 U T 2
U - 11 : FF (KARYA) T & halel TG o ST T Tt T & 1] shifereh wiTer 37l shi & et 2
ST HUHAT o HATA H HHTTRIT foehedl H & @afferss 3uge St o :
(A) e (1) 3R F (1) ST T 2 (B) & (I) 3R F (1) THT 7o &
(C) = (I) &= 8 foheg e (1) TTeret (D) = (1) Tod & T e (I0) W= 2
(E) oFfdia s
Al15] ¢ 8 [ P.T.O.
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37 Diesel engine converts energy from . (Choose the most appropriate option from below)
(A)  Chemical energy to mechanical energy (B)  Chemical energy to electric energy
(C)  Electric energy to sound energy (D)  Nuclear energy to electric energy
(E)  Question not attempted
EEGEST] et st a1 (e 5 & s SR forshe =)
(A)  Hierct Sl & Hohfehet Sl (B) et 39T & geiforgeh St
(C) AfReh w1l & AISE Sl (D) fT ISt | gAforgeh st
(E) oFfdia s

Read the passage and answer questions 38 to 41 :

“Stress”

All people have some stress in their lives. A little stress makes life interesting, and keeps you on your toes.
However, too much stress can be unhealthy. You may find your life becoming stressful whenever there are changes
in your environment, in your relationships, or in the demands you put on yourself.

Stress can also be caused by good things in your life, such as getting a new job, moving to a new place, or
getting married.

How can you tell when your life is getting too “stressful”? You will probably find yourself always feeling
rushed, as though you must hurry everywhere you go. There is never enough time to do everyting that you need to do.
You may find yourself walking, talking, and eating more quickly than usual.

Besides causing emotional problems, stress can also cause real physical problems. If you have too much stress
in your life, you may suffer from stomach problems, headaches or neck and shoulder pain.

Prevention is the best way to deal with stress. First of all, be organized- there is nothing so stressful as a
disorganized life. Put your life and your surroundings (your home, apartment or desk at work or school) in order.
Don’t procrastinate. Stop putting things off. Do what needs to be done today. On the other hand, don’t always feel
that you have to do everyting right now. Learn to say “no” to activities and commitments that will only add more
stress to your life. Remember that you are only human, and that you can only do one thing at a time.

Learn to relax. Slow down. Take a break or a walk when you feel yourself getting stressed. Find a hobby that
you enjoy. Reading, listening to music or creating something with your hands are all great ways to bring some peace
to a hectic life. Learn to laugh at yourself and your life. Try to look on the bright side of life. Even when things seem

pretty dark and stressful, there is usually a place for some humor and a smile.

38 What may cause stress? (Choose the most appropriate option from below)
(A)  When you make changes in the demands you put on yourself.
(B)  When you relax and meditate.
(C)  When you do Yoga.
(D)  When you go on vacation with friends.

(E)  Question not attempted

39 How to tell if you are too stressed out ? (Choose the most appropriate option from below)
(A)  You feel full of energy and josh.
(B)  You run short of time to do all you need to do.
(C)  You have time to volunteer for many social work.
(D)  You are relaxed and take life easy.

(E)  Question not attempted
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What is one of the appropriate way to manage stress? (Choose the most appropriate option from below)

(A)  Plan and organise your work.

(B)  Rush all the activities you do.

(C) Take on many assignments together.

(D) Do everything by yourself and avoid delegation of work.
(E)  Question not attempted

Choose the most appropriate meaning of the idiom “to be on your toes” from the options below:
(A)  Putting things off (B)  Look on the bright side

(C) Take abreak (D)  be alert and ready for anything
(E)  Question not attempted

Who was known as © Frontier Gandhi’?
(A)  Mahatma Gandhi (B)  Sardar Patel
(C)  Khan Abdul Gaffar Khan (D)  Mohd. Rasooq

(E)  Question not attempted
<Hfmria iefy> % T & R ST ST o2

(A)  wETeHT TRt (B) WER U
(C) WM Hegd THFER @H (D) HIEHTE F
() SAfdia s

If CAT =48, then MOUSE is equal to:

af§ CAT = 48 &1, & MOUSE 3 SiTe &7 27

(A) 142 (B) 146
(C) 148 (D) 138
(E)  Question not attempted / 3‘@?&?{ 99

Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left and travelled 20 km, then
turned left and travelled 10 km. How far was Ranjan from the starting point?

(A)  30km (B) 25km

(©)  35km (D) 45km

(E)  Question not attempted

ST ITHT A 15 Topeft T, Sk 18 A1fe A HgaRt 10 foreft =, Saeh e st 3T qgert 20 foreft =, deae, st
T qghT 10 Teplt oh <t T 370 TTifreh foig & feheret 0 eh ug=m?

(A) 30 et (B) 25 Tt
(C) 35 Tt (D) 45 ferft
() SAfdiayy

A group of girls stands in a single line. One girl is nineteenth in order from both the ends. How many girls are there
in the class?

BTATSHI T T T T TS § WST 8 ST ohA i & Toh BT 19 o 360 H W 31 el H e foal ST 22

(A) 40 (B) 38

(©) 35 (D) 37

(E)  Question not attempted / Hﬂﬂ'ﬁﬁ a9
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Which of the following rivers is the largest tributary of Indus river?

(A)  The Satlyj (B)  The Beas
(C)  The Chenab (D)  The Jhelum
(E)  Question not attempted

Ty e <1 T It we el (2T AT 2

(A) HAg (B) =aE

©) == (D) wH

() SAfdiayy

Where is the famous Sikh Shrine ‘Hemkund Sahib’ located?

(A)  Garhwal Himalayas (B) Kumaon Himalayas
(C)  Sikkim Himalayas (D)  Zanskar Himalayas

(E)  Question not attempted

wftrg fia g SHehe Aifes el feud 22
D -l

(A) TeaTe fedTe™ (B) AT fewe™

(C) Tafrry feurera (D)  STiEet fEmmers

(E) oFfdia s

Sewan, Dhaman and Karad are .

(A)  Types of folk dances (B) Desert soils

(C)  Types of grasses (D)  Types of Rajasthani painting forms
(E)  Question not attempted

Yo, e 3 e H|

(A) @I T & TR (B)  WEEISA &

(C) &% YR (D) Tt festerat (Ui 9 % TR
(E) oFfdi@ s

The perimeter of a rectangle is 90 m. If its length is twice its breadth, then its area is:

U ST AT ARATT 90 m 21 AT STehT TS =TSTS & G 21, AT SHhT & &:

(A) 450 m’ (B) 380m’

(C) 460 m’ (D) 420m’

(E)  Question not attempted / 3‘@3’&?[ Iq

The average monthly income of ‘A’ and ‘B’ is ¥ 6,000, that of ‘B’ and ‘C” is ¥ 5,500 and that of ‘A’ and ‘C’ is ¥ 5250.
What is ‘A’’s monthly income?

A 3R B &l g A1fEes 319 T 6,000 8, B Ta C it 3THd AT 3T T 5,500 3T A 3R C it 37ad Arfdes 1
25,250 ], 79 A ST HTIGR T T BT

(A) 6,250 (B) 6,450

(C) %5750 (D) 6,200

(E)  Question not attempted / 31':@'&?[ 9

‘A’ borrows a sum of ¥ 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money on 1

July 2012. How much interest amount he has to pay to ‘B’?

A 3199 i B & 31 fe@msi 2011 1 2000 ST T & fSreeht 31 @ T3 92 ek o w71 8% anfties |rermor sarst & 3§ amvw
A S | TR A 36 TRT T 1 S[ATE 2012 T ATTH a1 2| 379 I8 B 7l T STt &1 0m?

(A) 280 (B) %90

(C) 100 (D) 120

(E)  Question not attempted / 31':@'&?[ 9
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ffeTRaa # & fore wreai 7 Wi 39t 1 SR 87

a. U b. WA

c. TR d.  ufd®r

e. Bt
et fow T foreredt # § watfaes 39gw ST
(A) Fadc,d3ANe (B) ada,d3ANe
(C) ada, b3 c (D) Fadb, c AR d
(E) SFdia
4 8 s 1 gaw IugE e wes IR
(A) oTeq (B) fare
© o= D) g™
(E) SFdia sy
Sa e d ae, =@, qe, v, A 3ol J6 8, Fel e form ferg =1 s e &2
(A) STt (B) uifeR™
(C) drten furg (D) sSswifag
(E) i@ gy

FHAT-1: T 3T =S 01 2
FHAT-11: S T Ioa0T € A1 2
ST o % AT H Fforiad fospedt & & gaffas 3ugd STt :

(A)  FF ST T & (B) Y I 3711 ST 318 &

(C©) FFIFAE, fohq Fo Il s 8l (D) FFIEAT, FgF Tl
() i@y

Which of the following are two cash crops of Rajasthan?

(A)  Cotton and Tobacco (B)  Wheat and Rice

(C) Bajra and Coriander (D) Barley and oil seeds

(E)  Question not attempted

frfafaa & @ =i o teeum i 3 Todt wEd 22

(A) I HR dE (B) T R =EA
(C) ISR 3R gt (D) ST R frere
(E) i@y

Indira Gandhi Canal ends in which of the following districts of Rajasthan?
(A)  Jodhpur (B)  Jaisalmer

(C)  Bharatpur (D) Udaipur

(E)  Question not attempted

ey ieht e feferiiaa 5 & Trsteu 3 forer foret & e Bt 22

(A) SR (B) G

(€©) WYX (D) SR

() SFfdia s

Which city is known as ‘Food Basket of Rajasthan’?

(A)  Alwar (B)  Sri Ganganagar
(C) Bikaner (D) Ajmer

(E)  Question not attempted
ToRer TR T “TISTEITH T W SR 3 &9 H ST STl 82

(A) AR (B) AT
(€) s (D) 3R
() SAfdia s
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Choose the correct statements from the options given below:
a. The British Parliament passed the Indian Independence Act on July 05, 1947.
b. This Act was based on the Mountbatten Plan.
c. The Act got royal assent on August 10, 1947.
d. The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below:

(A) a,bandconly (B) a,banddonly
(C) a,canddonly (D) b,canddonly
(E)  Question not attempted

et fa T forped # @ wET o =

a.  TfeRr e T 05 ST, 1947 i TR arcsrar stferfem i faram
b. g rfufEm wrSe s it FASHT W et om

c. AW 10 3T, 1947 i Tt Thehfd S8 Al

d. Sl (W) 15 STTEd, 1947 1 A T fem ol

et fow T forspedt # @ watfaes Iugw ST I

(A) Fada, b3 c (B) hadia, b3 d
(C) Fada,c3Td (D) Fadb,c 3 d
(E) SFdia s

Who declared “the status of women should also be raised and women should be trained to take a larger and more
intelligent interest in public affairs” at the Maharashtra Provincial Conference in May, 1928?

(A) Mahatma Gandhi (B) J.L.Nehru

(C)  Subhash Chandra Bose (D) Bhagat Singh

(E)  Question not attempted

RIS e fearet Friei WE-1928 | fohe =wor ot “Higerratl i feurfr o1 Seam 81T =y ST Afeers il sl Siar o Hei
T IeT SR AT TH § T o o [oTg WIRITET fohaT ST =1ee™?

(A) T et (B) . Ud. AE®
(©) g TEE™ (D) wa fo
(E) SFdia ¥

What will come in place of *?’

“9* 3 TAT YT I G ek T2

60, 45, 32,21, ?
(A) 16 B 12
© 14 D) 11

(E)  Question not attempted / Cﬂiﬂiia EE

What will come in place of ‘2’
<2’ o T I AT SATTT?

O
5600

w —(O— (B)

© é (D)

(E)  Question not attempted / Cﬂgﬂﬁﬁ EE
D3 13 [ P.T.O.
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Some symbols are represented by letters as shown below:

7 WellehT ohT ST&RT ST qRte T 2 S b i ferma mr 2
+ = x|=l=|>|<
B|G|E|C|D|A|F

Which of the following expression is most appropriate?

et & & = w1 watferss sug e @2
(A) 15C15B8F4B6C2 (B) 15B5G 8B 4G 6F 3
(C) 15C5F8C 4B 6C 3 (D) 15A SE8C4B6E 3

(E)  Question not attempted / 34@?'?@ EE

Which of the following statements is not correct about the Gondwana Coal?

(A)  The Gondwana coal belong to the carboniferous period.

(B) Itis found in Damodar, Mahanadi, Godavari and Narmada valley.

(C)  Itis mainly peat and lignite type of coal.

(D) Raniganj, Jharia, Tata Pani and Himgiri are some of the important coal mines of Gondwana formation.
Question not attempted

ﬁmmﬁ%aﬁﬁﬁwﬁéaﬁquwﬁ%

(A) TSI HITAT T -UE hIcT T He T 2

(B) I TMHIET, HEMT, MeTadt T FrieT omdl | 9T ST 2l

(C) ¥ qEAq: fie 3Tk fommrse yehm &1 shiwer 2|

(D) TS, ST, 2Tt 1R fem iy, e T 3h % T Hr @ o

(B) &1d )

Kattha is extracted from the inner wood of which tree?

(A) Kul tree (B) Kusum tree
(C)  Kbhair tree (D)  Mulberry tree

(E)  Question not attempted

T FHIH-H J&T Al TN TRt & ITH Forarm STrerm 82

(A) FAIH (B) FUAUS
€ W (D) EqA U
(E) oFfdia gy

Take the given two statements to be true even if they seem to be at variance from commonly known facts, then decide
which conclusion would follow on the basis of given statements?
Statements I : No Apple is Banana.

Some Bananas are grapes.
Conclusion II : I. No Apple are grapes.

II. All Apples are grapes is a possibility.

In light of the above statements, choose the most appropriate answer from the options given below:
(A)  Only conclusion I follows. (B)  Only conclusion II follows.
(C)  Both conclusion I and II follow. (D)  Neither I nor II follows.
(E)  Question not attempted

Fqeh! TeT 71U &1 AT 1 G HIFHAT , Wl &1 o S F1d a2t § f=1 Idfid 81d 8, 3T9eh! I8 oF T @ Tk i |1
Tt farw T et o aTfher T & TR0 AT 22
HAAL: IS off A, e T 2
FS ol S AL 2
FrsRd 11 : 1L 18 ot 9, S 2
L &+l ¥, ST &M Al HraT 2)
SUh Ul o AT H HHTIRad foehed| # & @afferss 3uge 3t o :

(A) A e [ TR0 LT 8 (B) At e [ T80T T 2
(©) aﬁ‘—ﬁﬁ&s&laﬁmmwﬁ% (D) TN ST EN [T SATHT HLAT 2l
() SAgdia s
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Anoop told Munna, “Yesterday, I defeated the only brother of the daughter of my grandmother”. Whom did Anoop
defeat?

(A)  Brother (B)  Father

(C) Son (D)  Cousin

(E)  Question not attempted

[T A T © L, el B ST AT AT P ok gehedIdl TS shi B faar) S 7 fopd g

(A) HEH (B) fuarsfr=r

© TR (D) =R 9T A

(E) oFfdia sy

Which one among the following is a “Fossil Park”?

(A) Akal Wood (B) Keoladeo Ghana
(C)  Sariska (D)  Ranthambhore

(E)  Question not attempted

ffeiad & & siH-41 “Sfares Tk 27

(A) FHRAIS (B)  hadled =TT
(C) wfem (D) TOTRR
(E) oFfdia gy

Which of the following statements is not correct about Sahariya tribe of Rajasthan?

(A)  The habitat of Sahariya is South-Eastern Rajasthan, that too limited to Shahabad and Kishangan;j tehsils of
Baran district.

(B)  They have “gotra” like Chauhan, Dodia etc.

(C)  The chief of the tribe is called Tapara.

(D)  They worship several Gods and Goddesses, but their main god is “Behru Bharani”.

(E)  Question not attempted

freferfiad o o SIF-|1 o TeRee hl TRl ST o S T2l 6 87

(A) et it Heme gfaor.et Terea 1 8 3R a8 i A ot & weTene 31 RS deee ae ot Hifd 2
(B) 3T =eM, Sifear o11fe S« 2 2

(C) 3 SISl o FRGAT T qTST el STl 2l

(D) o g qall I SeTAT oAl IS A & T 3Tk 38 9 “oIe® W €l

(E) Igaid uy

Arrange the following States / UT of India in descending order according to their population density (Census 2011).
a. Kerala b. West Bengal
c. Delhi d. Bihar

RA o TR TSl / ST YaRT bl 2011 shT SO 6 TR T SHEEAT B o SR HeIa! (92d) 60 §
Fafeed Fifsy

a. A b. afm smet
c. faeeft d. [EHLY
Choose the most appropriate answer from the options given below:
et fow e foreredt § @ watfaes 39g SO
(A) a,d,c,b (B) «¢c,d,b,a
(C) c¢c,a,d,b (D) a,d,b,c

(E)  Question not attempted / 3Tf|f|ﬁ’ﬁ 99

Al15] ¢ 15 [ P.T.O.
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Given below are two statements:

Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.

Statement (II) : This soil contains enough quantity of Nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

e a1 e feu U E:

U (1) : STl (HE! H TaTH HIT H 9eTRT, SIEhITeh TR TR AT 9T ST &, S =T, 9, T8 3R 3= S AR gre
FEAT o SeATEH o6 foTg, TaRT &

HA (I1) : 36 et & w2ty AT § AIsgei et STt 21

I FHUAT o 3Tt 8, = 2 e foreredt & & wariferes suge S |

(A) I (1) 3 FH (11) IHT Fe & (B) A (I) 3 e (11) ST 7T &l
(C) A (I) |& & Aok e (1) TeAd 2l (D) U (I) TTETd & AfR e (I1) T 2l
(E) oFfdi@ s

Among the following places in Rajasthan, where is the Pichola lake situated ?

(A)  Udaipur (B) Ajmer

(C) Bhilwara (D) Karauli

(E)  Question not attempted

Uit (fusia) sfier, e o fefafaa © & form wom & uref st 22

(A) &R (B) I
(C) fiearer (D) Het
() SAfdiayy
Which statements regarding Kuchamani Khayal are correct?
a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre.
d In this Khayal, players of Dhol, Sarangi, Clarinet and Dholak are the main accompanists.

Choose the most appropriate answer from the options given below:

(A) b, canddonly (B) a,candd only
(C) a,b, andconly (D) a,banddonly
(E)  Question not attempted

FEATHON AT o R e & & - o W 82

a. e TS TiHE Tl ACHRR e T G I fohal 7T o)
b,  =ie Al e fane iR fR B, deet T R T T ' d
c. Wﬁwaﬁwcﬁr@)ﬁﬁwﬁaﬁﬁwwél
d. IO EH S, W, e SR e a1ee el Hedn aid 8
et fow e oot # § watfas 39gw SO
(A) FHEAb, c IR d (B) Hada,c3Td
(C) FacTa, b3 c (D) FacTa, b3Ad
(E) Sfdia s
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Which fair was started by Kachhwaha’s to cherish their victory over Chandra Meena?
(A)  Bhartrhari fair (B)  Pushkar fair

(C)  Khalkani Mata Donkey fair (D) Diggi Kalyan ji fair
(E)  Question not attempted
= HIOT W fSo 6T Scha 9 o ToTT Fevarel ST o H-61 HelT 3% foha T

(A) R Ha (B) TR
(C) THvt uTaT Sht Tt (D) feuft sHemor it o
(E) SFdia wd

Choose the most appropriate antonym of the word “Ancient” from below :
(A) Insult (B) Rough
(C)  Destroy (D) Modern

(E)  Question not attempted

For the sentence given, choose the most appropriate answer in reported speech from the options below:
Ravi said, “My mother is going to her home town.”

(A)  Ravi said that his mother will go to her home town.

(B)  Ravi said that his mother has gone to her home town.

(C)  Ravi said that his mother was going to her home town.

(D)  Ravi said that his mother had gone to her home town.

(E)  Question not attempted

In 1859, ‘Relief of Lucknow’ painting was painted by
(A) Thomas Jones Barker (B)  Campbell
(C)  Oubam (D) Havelock

(E)  Question not attempted
foreh 31T 1859 H, “fiefith 3T @ ol (painting) ST =t oft?

(A) T S ST (B) FHEd

(C) 3f=m (D) TR

(E) SFdia s

The University Education Commission was set-up in the year under the Chairmanship of Dr. S.
Radhakrishnan.

S, TH. THTHWM 6l STeerdn # forgferanersr e SR =l SAToET i 8 a9 4§ 852

(A) 1947 (B) 1948

(©) 1951 (D) 1953

(E)  Question not attempted / 3F|\j||32('| 9

Al15] ¢ 17 [ P.T.O.
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Given below are two statements:

Statement (I) : Most of the rulers of the princely states after Independence of India were averse to join the Constituent
Assembly.

Statement (II) : This response of rulers of the princely states meant that after independence there was a very real
possibility that India would get further divided into a number of small countries.

In light of the above statements, choose the most appropriate answer from the options given below:

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

Frar gt e few o €

AT (I) : WA 1 ST o6 18 AT o5 S I ST a1 H S o foreg, 2

AT (II) : IMET TS AT 36 STMHAT o1 37 T fofs TAAAT o6 WIS T ST WTaT off fofs T g B IR H s STl
STUH T o Tl H, it fow e foreredl § & wa@ I9gE ST L:

(A) e (1) IR FH (1) ST T 2 (B) e (1) R FH (I1) ST &1 TeAd 2
(C) A (1) 9el & AT e (11) Teid 2l (D) A (1) TTeTd © Afeh e (11) T R
(E) gy

Which of the following districts of Rajasthan is famous for the highest production of wheat in year 2022-23 in
the state ?

(A)  Sri Ganganagar (B)  Jaisalmer

(C) Bundi (D) Kota

(E)  Question not attempted

TSTET o T 3 § i o1t i 2022-23 5 T 7 1€ o Hai e 3cated o forg Midg 82

(A) SR (B) SR

© =& (D) =

() SFfdia s

Which among the following is not an Agro based Industry in the state of Rajasthan?
(A) Dal Mills (B)  Rice Mills

(C)  TIron and Steel Industry (D)  Cotton Industry

(E)  Question not attempted

TSR T Frfaftad § @ i T s i st e A 82

(A) et fored (B) = fired
(C) e I eaTd FemT (D) I &N
(E) SFdia gy

Which of the following is not a web browser?

(A)  Mozilla Firefox (B)  Safari

(C)  Opera (D) Gmail
(E)  Question not attempted

frfafad § 9 wiF-91 99 Sesi 71 82

(A) TSI BrRRHR (B) U®r

© s (D) S
() SAfdiayy
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Which of the following statements is not true with regard to the Comptroller and Auditor General of India?
a. The CAG is appoited by the President of India.

b. The CAG can be removed on the recommendation of the President of Inidia.
c. The salary and allowances of the CAG are charged on the consolidated fund of India.
d. The Tenure of CAG is fixed for five years.

Choose the most appropriate answer from the options given below:

(A) a,canddonly (B) a,bandconly

(C) b,canddonly (D) a,banddonly

(E)  Question not attempted

frferfad & & i 8 o IRd o e 3T HeTereTiers & o § ael Td 82
a. T (CAG) I IRd o gyl & SR Feh foram STra 2
b. A o USGATA o STTHIGH THT (CAG) T ST ST HhelT 2l

T (CAG) T a3 3T AR it wafera ffer & fer sima 8

e

d.  FT(CAG) F1 % 5 T o ferw ffra & 21
et fow T oot # § waifae 39gw® SO
(A) Fada,cId (B) adia, b3 c
(C) Fadb,c 3 d (D) Facta, b3 d
(B) ruRayy

Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council

of Ministers?
(A)  Article 70 (B)  Article 72
(C) Article 74 (D)  Article 75

(E)  Question not attempted

Twiferfiae o & v wferer s i | grere wtirg st R S vesTa | deiy @ 82

(A) 3T 70 (B) 3FT=ee 72
(C) 3FT=aT 74 (D) 3T 75
(E) i@y

The rate at which Reserve Bank of India lends money to commercial banks is called

(A) CRR (B)  Reverse Repo Rate

(C) SLR (D)  Repo Rate

(E)  Question not attempted

fSre ot & vt Tt Sisk anfurfsareh Seht AT o SO 3aT 7, 39 Ed 8l

(A) ©F IR, W, B) fEdwE

(C) WH. T AR (D) WWE

(E) oFfdia gy

As per the Budget 2024-25, the fiscal deficit is estimated to remain of GDP in 2024-25.
TSIE 2024-25 T EU o STTAR TSI BT Y 2024-25 H Fhet Ble] 3T T & T AT 2
A)  51% B) 55%

) 58% D) 4.9%

(E)  Question not attempted / 3F|\j||32('| 9
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In which year the Indian Government launched the New Economic Policy of India? (Choose the most appropriate

option from below)

I T A Torer o o Wi ot efiy 3riefen fifer shr gpit fopam? (et o & wor 3uh forehed )
(A) 1992 (B) 1991

(C) 1990 (D) 1993

(E)  Question not attempted / ﬂgﬂﬁﬁ 99

Who from the following has the primary responsibility of distribution of the food grains in India?
(A)  Bureau of Indian Standards (B)  Food Corporation of India

(C)  Food Safety and Standard Authority of India (D) Employee’s State Insurance

(E)  Question not attempted

R | frfefad # & @ o forawor i g SrierT freeh 82

(A) TR HTTR HEH (B) wRd @
(C) VTR Wy G 37 e TTfershaor (D)  sHH=TRET 1 e sfiur
(E) SFdia ws

Which country’s armed forces were awarded the coveted ‘Golden Owl’ award for their outstanding performance in
Dec 2023? (Choose the most appropriate option from below)

(A) India (B) China

(C)  SriLanka (D)  Singapore

(E)  Question not attempted

ot <91 o e sretl ot fegisr 2023 H 3ok Ich¥ Te¥id 2] 37 “Tieed AT HHM & gatssid {82 (Fe 3 @ wed

SHh ferehed <)

(A) wrd (B) =

(C) it (D) R

(B) ruRauy

Who was appointed as the first woman Chief Justice of Uttarakhand High Court?
(A) Ruma Pal (B)  Ritu Bahri

(C) Hima Kohli (D) Indira Banarjee

(E)  Question not attempted

SIS Foel AT hl Teet Afeett g =i o Fyh fom ma g2

(A) SHETUE (B) TRgamed
(C) femrieett (D) sfer aas
() SAfdiayy

Which one of the following is not the mode of Social media?

(A)  Facebook (B)  Twitter
(C)  Broadband (D) Blogging
(E)  Question not attempted

FfaTRad # & SI9 |1 FRTe ST 1 AT (91S) T 2

(A)  HEIF (B) fa
(C) sitesis (D)  sAThmT
(E) SFdia ¥

Al15] ¢ 20 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

92

93

94

95

96

247

Who of the following space travellers born in India died in space shuttle of Columbia during its returning?
(A) Kalpana Chawla (B)  Sunita Williams

(C) Ritu Karidhal (D)  Sirisha Bandla

(E)  Question not attempted

1 5 & v § ST, i € siatier and oft feht araet 36 G shietfor 3 siafte o H gy a e ot

(A) AT =TT (B) gt ferferes
(©) frgshfverer (D) Tafeem srieer
(E) i@y

Which of the following are not the Artificial Intelligence (Al) related projects initiated by the Rajasthan Government?
(A) RaBOT (B)  Revenue Intelligence & Analytics

(C) UID (D)  Audio Analytics

(E)  Question not attempted

frfoTfiae o § I H TSTEr STehR ST I o6l 7T AR eTersd (T, HTS.) § Haiferd TiErsHTg T8 87

(A) TSER (B) TR Gftham 3R farsgeor
(€) 7 3R (D)  iifear warfeafesa
(B) raRayy

For the word given in Hindi, choose the most appropriate word in English from the options below:
SIEEREIEY

(A) tenable (B) acceptable

(C)  unacceptable (D) untenable

(E)  Question not attempted

From which generation of computer the use of Integrated Circuits (IC) started?

(A)  First Generation (B)  Second Generation

(C)  Third Generation (D)  Fourth Generation

(E)  Question not attempted

T T H IS § 3w afdhe (S, #.) T SwE 3w g B2

(A) e i (B) zEddE
(C) el i (D)  =eft it
(E) SFdia ¥

A set of wires which carries a group of bits simultaneously, that is, in parallel, and has an associated control scheme

is known as :
(A)  wires (B) data cables
(C) Bus (D) Registers

(E)  Question not attempted
AT T T WHE ST U W1 foizer o e WoE 1 o SaT &, A1 GHiol H, SR e Heiferd R0 F1s1 o &9 § ST Sar
2

(A) R (B) Sl kadd
© == (D) I
(E) oFdia gy

Al15] ¢ 21 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

97 The name of the first Indian Satellite is :

GET IT ON
Google Play

Insat-I

Kalpana

-]

hel-T

98  Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?

(A) Bhaskar-1 (B)
(C)  Aryabhatt (D)
(E)  Question not attempted

T YRATS SIS T AT 2

(A) eI (B)
(C) wmivg (D)
() SAfdiayy

(A)  Receiver B)
(C) Dialer (D)

(E)  Question not attempted

Cable
Mouth Piece

AT ITHT T I8 hI HT AT 8 ST TS ohi TTHR AT & 3T 38 o1 i (o2 Trarchid qll o &9 H Wil 872

(A) T (B)
(C) sHE (D)
(E) oFfdia sy

99 In Olympic 2024, India was at

NN

FH
oy 1|

spot in the medals tally?

7lst
9lst

714
91d

Maharashtra

Ay 17* (B)
(©) 37™ (D)
(E)  Question not attempted
STIEfR 2024 T WA TG dTferert § T T IET?
(A) 179 (B)
() 379 (D)
(B) raRayy
100  Which state hosted Outlook Planet Sustainability Summit and Awards-20247?
(A) Rajasthan (B)
(C) Goa (D)

(E)  Question not attempted

Tamil Nadu

fohe TS o AT e TeeTafcrel witre U 3fared 2024 shi Hefat 3hi?

(A)  TSTEIT (B)
(C) T (D)
(E) SFgdia s

101  ‘Deputation’ I1e¢ T Tt gt 318¢ BT
(A)  wfafrfs (B)
(©) Rz Avea FfE (D)
() SAfdiayy

102 Frfafea & @ o et 3131 are -
(A) T E AR R (B)
(C) ™ =Tt B (D)
(E) oFfdia gy

Al15] ¢ 22
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ST €T HRTa 1 1 37 72
(A) €@ B) fw@&gsEmAT
(C) for fomm =g (D) THE EEW
(E) i@y
frefefiaa for el 7 aqor afeer 22

a. g b. w37

c. Tl d. fordrsom

€. ~d
e faw T fereredt # & waiferes 3ug ST A -
(A) FHaAa 3D (B) hadc 3R d
(C) Faad3ie (D) Fade AN a
() SAfdia s
EIERC O A

AT - | 1 THHP ToRAT3T T T e il & TN Il ST el Toh sl R U8 o gL Tl 2l
AT - 1 : HHHH [SRATAT T et H T TG & 3 o foT IFehT 372 T T &1 |kl
SRIT U % ST | ffaiad ool § & gaffass 3ugw S

(A)  FT ST AT T (B) U 3T I HT 1 &

(C) FAAIEAE, o Fo [ A S | (D) FFIsEAE, fFgFA Tl

() SFfdia s

“STHEH’ T T TS ET-

(A) T BT (B)  3THg STHT

(C)  3ATE | gaT g3 (D) e €l T

(E) oFfdia gy

Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A)  Jute Industry (B) Khadi and Village Industry

(C)  TIron and Steel Industry (D)  Cotton Textile Industry

(E)  Question not attempted

Pt & & e T 3 s Soft 1 g e 2 (B i 8 e g e )

(A)  9eET I (B) W@l TR T
(C)  itg 3R 3T 3Tt (D)  Hll ST ST
(E) SFdia w

The first Vice Chairman of NITT AYOG was .

(A) Narendra Modi (B)  Arun Jaitley

(C) Nandan Nilekani (D)  Arvind Panagariya
(E)  Question not attempted

T STTANT o o IuTETE I A2

(A) TEOE (B)  3TRUTSiTeAT

(C) e fcrruft (D)  3nfeg wfean
(B) ruRayy

In which of the following budget year, the Railway Budget was merged with the Union Budget?
fferfiad o & forg ate 9 @ W@ 1 aIsie |9 o asie § i o m 2

(A) 2015-16 (B) 2016-17

(C) 2017-18 (D) 2018-19

(E)  Question not attempted / ﬂgﬂﬁﬁ EE
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In the sentence given, replace the underlined words, choosing the most suitable idiom from the options below:

He was arrested without being given a reason.

(A) over and above (B)  for no rhyme or reason
(C) atodds and ends (D)  outand out.

(E)  Question not attempted

For the given sentence, choose the most appropriate answer from the options below:
The language and style of a formal letter is-

(A)  lengthy (B)  chatty

(C)  very friendly (D)  polite and brief

(E)  Question not attempted

frfafiaa ® i a7 wreq faaeft 82

(A) Taght (B) A

(C) "W (D) fomer

() SAfdiayy

Trfefad 4 @ fostett 1 wag 3ugw watEar= iR

(A) == (B) @&

(©) = (D) R

(E) oFfdia s

Complete the sentence by choosing the most suitable article from the options given below:
Please get me _ umbrella when I go out shopping as the monsoons are approaching.
(A) the (B) a

(C) No Article (D) an

(E)  Question not attempted

Complete the sentence by choosing the most appropriate preposition from the options given below:

I reached the school the gates closed.
(A) later (B)  Dbefore
(C) by (D) from

(E)  Question not attempted
Match List-I with List-I1:

List-I (Words) List-IT (Synonyms)

a. generous L. esteem

b. honour 11 ridiculous

c. absurd III.  achieve

d. accomplish IV.  charitable
Choose the most appropriate answer from the options given below:
(A) a-Lb-ILc-1I,d-1IV B) a-lULb-IV,c-1,d-1I
(C) a-IV,b-Lc-1I,d-1I (D) a-I,b-ILc-1V,d-1

(E)  Question not attempted

Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 2024°?
(A) Ramesh Agrawal (B)  Alok Shukla

(C)  Tulsi Gowda (D)  Rajendra Singh

(E)  Question not attempted

BT &1 8 3 4§ fop T ot =i T foi oRfeor RaRr 2024° 3 37T 27

(A) T IIET (B) AT &
(C) g (D) TR fiE
() SAfdiayy
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Which of the following is the starting point of the Ram Setu in India?

(A)  Thanjavur (B) Madurai
(C)  Arichal Munai (D)  Shivaganga
(E)  Question not attempted

T H Tttt # & %1 |1 T 1 o fog 22

(A) TSR (B) Hg®
(€) = (D) fmrm
() SFfdia s

Which Union Ministry launched the ‘Swachh Sarvekshan 2023 - Mera Shahar, Meri Pehchan’ survey? (Choose the
most appropriate option from below)

(A)  Ministry of Housing and Urban Affairs (MoHUA)

(B)  Ministry of MSME

(C)  Ministry of Jal Shakti

(D)  Ministry of Tourism

(E)  Question not attempted

fopg TATeT 7 T WAEIT 2023 - HU WET W UEE T Hoeqor YRR o (e H W He ST foehed o)

(A)  SATETEH TR STed Sl Jarers (B) UH.TH.UH. 3. HAH

(C) ST Ifeh waAter T (D) Wi HA

() SAfdiayy

Pradhan Mantri Krishi Sinchaiyee Yojana (PMKSY) was implemented in Rajasthan from the year
TSTE | e Hft iy g s (diensheeas) o & oy T T o

(A) 2015-16 (B) 2017-18

(C) 2019-20 (D) 2020-21

(E)  Question not attempted / 34:|j‘||5[ﬂ BE)

Rajasthan Agricultural Research Institute is situated at which of the following cities ?
(A)  Jodhpur (B)  Udaipur
(C)  Jaipur (D) Mount Abu

(E)  Question not attempted
TSI Y ST weor ey 8 & fore wret 7 feora 22

(A) SR (B) 3EW

€ IR (D) HISE AT

(E) SFfdia gy

Ramganj Mandi, also known as coriander city, is situated near which of the following cities of Rajasthan?
(A)  Jodhpur (B)  Udaipur

(C)  Sriganganagar (D) Kota

(E)  Question not attempted
TSt we, o e wre & A @ ST S 2, FEfafaa 9 8 Tereer 3 R et 3 el fRea 22

(A)  STEE (B) IR
(C) TR (D) @
(E) TIaNd 9

Where is the principal seat of Rajasthan High Court located?

(A) Barmer (B) Ajmer
(C) Kota (D)  Jodhpur

(E)  Question not attempted
TS 3o =TT i 7 Hie (e e ) et feua 22

(A) aTEH (B) IS
(©) e (D) SER
(E) oFfdia gy
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Who was the State Election Commissioner of Rajasthan during 2023?

(A) N.R. Bhasin (B)  Inderjit Khanna
(C) Madukar Gupta (D)  Amar Singh Rathor
(E)  Question not attempted

a9 2023 H TSTEAH o T3 AT AT I 97

(A) TTIAR, el (B) St @
(C)  HIHTHT (D) o fag Wk
(E) oFfdia gy

The Khilafat movement was led by -

(A) Mahatma Gandhi and Khan Abdul Gaffar Khan (B) Mohammad Ali and Shaukat Ali

(C) Bal Gangadhar Tilak and Vipin Chandra Pal (D)  Mabharaja Hari Singh and Shaukat Ali
(E)  Question not attempted

REQThd STTQI T qcdl fohesh ST fohaT 7T 2T

(A)  HETeHT T SR W ogel THHR G (B) HigrHg 3Teft 37T vitehd 3Teft
(C) =Tt TmeR forereh ST farfue = urer (D)  wERTST g 7 ofiX witehd areft
(E) oFfdia gy

The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15
August 1947, is known as: (Choose the most appropriate option from below)

(A)  Wings of Challenges (B)  Independent India

(C)  Tryst with Destiny (D)  Hope for the better future

(E)  Question not attempted
T o ToH T W3} STaTel ATt 6% 510 8 1947 % 14-15 3TTE il Hea ol fw 7 wferg, syt a1 forer 4 & S

ST 87 (T 4 & Her 37 forshed )

(A) o 3T S~ (B) 3feue sfem

€) fomfae efiett (D) B9 HRF S R

(B) raRayy

In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?

(A) Kota, Tonk , Bundi, Jhalawar (B)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(C)  Alwar, Bharatpur, Dholpur, Karauli (D)  Jaipur, Jodhpur, Bikaner, Jaisalmer

(E)  Question not attempted
TISTET o WehIshLOT o 1 =107 & fofit =T Tl 1 et Tstear # forery g

(A) i, 2feh, S, FreTETg (B)  WATUTE, ST, fehere, SIeqa
(C) AT, A, HIAq, FIeA (D) SR, STEY, SehTR, SEeH
() SAfdiayy

When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India at

Singapore?
(A) 215t October 1943 (B) 22 October 1943
(C) 23 October 1943 (D)  24™October 1943

(E)  Question not attempted

QST g =g S o T e Wi i srerlt (feser) SeRr S T shy Hien foRe i i eff?

(A) 21 3TE 1943 (B) 22 3SR 1943
(C) 23 3T 1943 (D) 24 I 1943
(E) SFdia g
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Where is the archaeological site of “Civilization of Balathal” situated?

(A) Vallabhnagar, Udaipur (B)  Mount Abu, Sirohi
(C) Hanumangarh (D)  Ajmer

(E)  Question not attempted

““STCATYIET TIAT” T JIce T Hal (o 27

(A) IV, TR (B) e 31, e
(©) EHFTE (D) ¥
(E) i@y

In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?

(A) 1181 A.D. (B) 1182 A.D.
(C) 1191 AD. (D) 1192 AD.
(E)  Question not attempted

foper ol & geaft TS 111 = JRISIT o WTHe F=al i ST AT

(A) 1181%. (B) 1182%.
(C) 1191%. (D) 1192%.
() SFfdia s

“Saheliyon ki Bari” a popular tourist destination in Udaipur was built by .
(A)  Maharana Shambhu Singh-I (B)  Maharana Sangram Singh - II
(C)  Mabharaja Surajmal (D)  Mabharaja Udai Singh

(E)  Question not attempted

ITAYL HT T TG, Tileeh T “Heforall ht el foheeh ST siamarT 71 ot |

(A)  wERT T eI (B)  WEwoT wumy fE-11
(C) VRN g A (D) HEWT 3¢ fHi'
() SAfdia s

‘Rane Jagpat Ra Marasya’ was written to mourn the death of which ruler?

(A)  Mabharaja Janak Singh (B) Mabharaja Jagat Singh
(C)  Mabharaja Jeevan Singh (D)  Mabharaja Jaideep Singh
(E)  Question not attempted

0T ST T HORAT” Fohy TTE0eh shl 7 31 311eh H o forg foreeft Traft oft

(A) TERIST S fie (B)  WERIST 5T '

(C) W Sfa foig (D) e SEdy fig

(B) ruRayy

Who, amongst the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kala’?
(A)  Jamna Lal Bhatt (B)  Janki Lal Bhand

(C)  Amar Singh Rathore (D)  Jai Singh Rathore

(E)  Question not attempted

frafafaa & 9 fora vftrg e 3 IRa Scaa 7 TER R ST § TS o gidffea fram

(A) SHATATT 9g (B)  SIHehI AT Wi
(C) iz (D) “EfirwEs
(E) oFfdia gy
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134 Match List-I with List-II

List-I (Chhatri) List-II (Places)
a. Chhatri of Sawai Jai Singh L. Alwar
b. Chhatri of Musi Rani 11 Ramgarh
c. Chhatri of Gopal Singh III.  Gatore
Sethon ki Chhatri IV.  Karauli
-1 %ﬁ | gfl-11 1 et shifse
ol @) FE-1I (ForT)
a.  EaT 5 fHE Al I 3R
b, HETHT Al L. e
c. TS g Rl we . R
d. Wi Bal V. et
Choose the most appropriate answer from the options given below:
et fow e foreredt § @ watfaes 3ag SO
(A) a-Lb-I,c-III,d-1IV B) a-ILb-ILc-1V,d-1I
(C) a-IV,b-Ill,c-1,d-1I (D) a-Ml,b-Lc-IV,d-1I

(E)  Question not attempted / Sﬂﬂﬁ’ﬁ 99

135  Who is famous as “Wagad Ki Meera’?
(A) RanaBai (B) Karmawati
(C)  Gavri Bai (D)  Panna Dhai

(E)  Question not attempted
T T HR o AT H R TGS 22

(A) TomeT (B)  ferdt
(C) TEET (D) U=TYUR
(E) oFfdia gy

136  Blue Revolution in India was launched during the period :
(A)  1975-1980 (B) 1980-1985
(C)  1985-1990 (D)  1990-1995

(E)  Question not attempted
o | fieft shifer forer srretmarfer & sy &t 71g oft?

(A) E11975-1980 (B) E11980-1985
(C) E11985-1990 (D) E11990-1995
(E) oFfdia gy

137 In which of the following, Rajasthan is the largest producer in the country?
(A)  Wheat (B) Rice
(C)  Wool (D) Tea

(E)  Question not attempted
TSTET 0 <37 H Feferiiad & ferersh garifere Scatesh Tsa 82

A T (B) =m&a
© > (D) =™
(E) oFfdia s
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Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the most appropriate

option from below)

(A) Ram Sagar Dam (B)  Rana Pratap Sagar Dam
(C) Meja Dam (D) Jawai Dam

(E)  Question not attempted

TsTe § frefrfad & & i a1 sty & e e ot St forega 3 o forg s fora san &2 (e 5 & word Suge

forshe =)

(A) THITI Y (B)  TOT Y9 AR ST
(C) ST (D)  aTS sifer

() SAfdia s

Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A) Taxes on Agricultural Income (B) Taxes on land and structure

(C)  Road/Vehicle Tax (D)  Income Tax

(E)  Question not attempted

Frefefad o & S 91 T T ST GTohR gRT oTET o SUEd Ta) forar ST 22

(A) TN AT R (B)  uffr it H=AT WA
(C) TSH/ATET (D) I
() SAfdiayy

Which of the following is not a salient feature of the Indian Constitution?
(A)  Lengtheist written Constitution (B)  Universal Adult Franchise
(C)  Provisions drawn from various sources (D)  Provision of Dual citizenship

(E)  Question not attempted

frforfiae o & =i €t v wiforer st ueh g fomivar =2t 82

(A) T=E e fafad dfaem (B)  w@rEifies a5k AdTiRiR
(C) Tafe= =t & fore & wraem= (D) el ANTHERAT T JTEe
(E) i@y

Which of the following options is arranged in descending order of their storage size?
TS T o ST o STTER 1 8 & -4 foreed STalie! (2dh) 3 H SFafeerd 82
(A) MB, KB, Byte, Nibble (B) Nibble, KB, MB, GB
(C) Bit, MB, Nibble, KB (D) Bit, GB, KB, MB
(E)  Question not attempted / 3ﬂ?|ﬁ?f a4q

PARAM is a series of assembled in India by C-DAC, Pune.

(A)  Mini Computer (B)  Super Computer

(C)  Micro Computer (D) Mainframe Computer
(E)  Question not attempted

T 1 T e &, o freeh, T g wia # srvaret form T

(A) T S (B) YWHIX

(C) wTER FR (D) R HHH

() SAfdiayy

Al15] ¢ 29 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

143

144

145

146

Al5]

Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A)  First generation (B)  Second generation
(C)  Third generation (D)  Fourth generation

(E)  Question not attempted
o o i) B Tt S AT g A 3 e A e T S fe e 3

(A) e e (B) gEIRER
(C) drEd gl (D) e gl
(B) raRayy

Duduma waterfall is located in which of the following state?

(A)  West Bengal (B)  Andhra Pradesh
(C)  JTharkahand (D)  Odisha

(E)  Question not attempted

T 9 4 for Troer 9 ggT SrerwTar ferq 22

(A)  Ufsm smTer (B)  STY QI

(C) wREs (D) fesm

(B) raRayy

Name the left bank tributary of the Brahmaputra River?

(A)  Subansiri (B) Kameng
(C)  Burhi Dihing (D)  Sankosh
(E)  Question not attempted

ST 7T o SR 42 shl FETI 4 T AT A1 -

(A) g (B) =W
© T ffEr (D) w&N
(B) raRayy

The Western Ghats are known as ‘Sahyadri’ in which state?
(A) Karnataka (B)  Mabharashtra
(C) Tamil Nadu (D) Kerala

(E)  Question not attempted
afst =el ot fore T § TR o AT E S S 22

(A) WleH (B) HENTE
(C) dfrerTg (D) A
(E) Iaiayy

D

D3 30 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

147

148

149

150

247

Bifocal lens is used to correct the defect of: (Choose the most appropriate option from below)
(A) Myopia (B)  Presbyopia
(C) Cataract (D) Hypermetropia

(E)  Question not attempted

ST o o1 I TR 7 & foreeht st ot gt o o for foram smam 22 (e & 9wt S forepe )

A) Tl (B)  SI-gTgfEe a1 (T H)
(C) wifearfeig (D)  TTETHSIRT
(E) SFfdia s
The adult human dental formula is:
I T & G 2
2112 2122
(A) m (B) ﬁ
2123 2213
© 313 D 3

(E)  Question not attempted / 341?”\(?‘1 BE

Given below are two statements:

Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
system of one person to another.

Statement (II): The first blood transfusion was carried out by Karl Landsteiner.

In light of the above statements, choose the most appropriate answer from the options given below:

(A) Both Statement (I) and Statement (II) are true.

(B)  Both Statement (I) and Statement (II) are false.

(C)  Statement (I) is true but Statement (II) is false.

(D)  Statement (I) is false but Statement (II) is true.

(E)  Question not attempted

= 3 e few e £

HAT 1 2 Toh AT (ZTERISH) Toh Tgid & ST Toh ieh & G oA feh o THREIT = 8 T2h ScaTal Al Teh shi SelTiet fefa
ST &

YT I1 : T8 Tk HaI0T h1et USETR G fofalT 7T ol

SWRIT ol % STere | ffafad ool § & waffass 3ugw ST

(A) e (1) R FH (1) SHT T B (B) Y (I) 3R F (1) THT 16 T
(C) =M (I) & & fofq e (1) 379 2 (D) o (I) 379  foh e (D) & 2
(E) oFfdia gy

Which of the following is incorrectly matched?

(A) Washing soda - Na,CO, (B)  Bleaching powder - CaO

1
(C)  Plaster of Paris - CaSO4-5H20 (D)  Baking soda - NaHCO,
(E)  Question not attempted

freferfiaa o & foresrt e et 781 &2

(A)  STRATEIET - Na,CO, (B)  ScAIT UTSET-CaO
(C) =R ATH UfE- CaSO, % H,0 (D) ST |I—T NaHCO,
(E) SFdia s
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